foen) = 4;‘7”:»{ +&

aex) = -3
qo0 =3

F(3) = 7(3) % =N

t )} =T %@ (3 = |—==2__

(eh ) v & o # .; ™ e ﬂ: Y mvp
O ;{Mf}k ig‘}‘) ;éﬁ} ‘, @ Fx) =X =6
T Te)
g (% D =10x +0

[ MAC l6S

| Cchapter 6
G -04

. Prachce forthe Evam
SOLUTIONS

ST

>

X
fé {Fe-i }}s el %; { o) = g

e

(3 oD = 305“’)

@ 50O = |iax®-ax| Y+

Faeay) = X Te 'D

g = 1o ~F = 15 Lo = %t

fOs4) = ii;:mﬁ%&maa aﬁ%E =

Biepram gy = 3%
= S84, 284 |
® Jox) =4x +3 Flgen) =5(3x =)
GO =) = (x-DTY —2x %)
- 2

PR 3
Fla) = HD) ra =M gd0) = 9 (53 )

SO = gon +a =G =sey) g =
=
= %+q -4 =X

mv@wj ﬁAMjﬂ@W S.




@ Foo =9 (5 FOo= =L =
X=7

AR =X
9 gx) = —49
X
Flac)) =F(£) = AR
T ree )
(% x) = >< _
5! 3 =uA <o [0,
S0 *P%l 3 are. wvﬁ@m — L;f Jed =x
Lﬂ__-—-—‘—- "7
Px) = ax®4q % ) x
S(a) = 3a +S 4 —T7% a9 +7x
P (_30( }s) = &L%ﬁ_)‘a%q = Y9 +7¢ #0
= 24a*+ 1sa+1Sa +as) +9 7K FHT
= 2(9%a>+ 30a +a35) +9 KET7
= 2
T 1S +Loa +s0 +9 N, IR excep‘\‘ |
= liga® +060a ﬂ~>5‘1\1 —7 20
(D Poo=tx+4
gexy = % +5
F(gcx2) =F(3x4+5) = Hx45) +4 = %480 4
={r¢ +39 |

no Restrichons

o [0

@ FOO =x+4 g0 =

F(9t0) = F% @iﬂ & “R.@xrcmpﬂ

Kte +O AKE G
Y Fo

(g le] @@g“}w chow S




(D FOx) = Sx +a Tnverse D@‘

Zis,4), (4,5 (32,60, (3C)

gex) = Nx
D' {-3,3, %,6}
Flam) = F((‘) 5‘@‘};2. R‘- R
X>o x>o

o[ D1 x 20| OO = Sx
X |2 7

@ yes IS one fo one
(no re Pm‘h ﬂ@ PN \Iaﬁam& - {‘Lma“%wmvb

(no pepeating values — one +o
Peey S o

@ nNo |0 = 2000
{15 — 2000

@ (] iS V‘epéaj‘{cq

all x4du's are umw

Funckion (VLTY) Yes

o | (HLT) s
O }uV\dﬂOV\ (N LT) lé@f‘s‘ t ’\;"\ e
\ o | (HLT) ho 2
Junchon  (NUT)  UPS
| 4ol (HLT) Yes

(3 Tnverse D 7 3000,4000,700, ,0003
R 55,0,15,35]3




’ o (a,D) FOO = 7% E@a °
1) / ’ Ql/,‘"?—) 8(}) — A+

(X®) " | (2,0) T
f P a0) =
/ % —= 7(222:2‘) _!__ﬂ ‘

-
Tiand
"ﬂh Narar—
.

5
S S Ras
not inverses

F6O = %1 | FOO =5% =3

600 = Loy

5@3(1’@) = —F(——é(‘x ‘H> X = g:j...z
— ﬁ(-‘gi-m—-xj“ﬂ A 2=04

= % +q-9 =W sz ""‘"‘iﬁmp%m)%
g4) = q(ax=<) '

- @x—-«fﬂ +

o W
fﬁﬁ ove. \nVerses

smee Fa0) =X and,
g(FeR) =X




HA - y=5% oiﬂ =Y



. meé
& JDW:(-'@)X‘;@“‘“)" =37 \ 5>o =

SMF‘\- CO; )) % :)
S oL v la'=a
1 e —
C@i’Q) ,}E‘—L\!§§i o '——} |
Ay =0 T HERE
' FOO = Ca—x) JC{x) = — On(X+9 )+,
- S{aH— (1,00 XY
° 2;3 hp—g— (#,ab 3z
e T , (—23) *& .3
<o (D X<
L) B
@ T = Jl@g,,x | D= »<>*-LF¥ “
- R: R

Sjrar*\— C | C))




